THAEERPE2022EE = L2WE - RBEE RS (H¥) #
1. -
NS A= {alx* - 2x-320}, B = {alog(x- 1) =2}, (. z4)NEB= « )

A. (L3 B. [-13] C. (33) D. [-L5)

g+ =0, Wzx=y=0"MBHHAEA C W
A. BHxE+y'=0, MyxeoHy=0 B. #Hx+y =0, Mxe0Bgy=D

C. %‘KjJrJ’z#D, NjxeoHy=0 D. 7_%“324'3’2*0; M x4 By = 0

3. \ N

AR (x) =x*+ (m?-4) xrmRERE, ¢ ) =xE (40,\0) HHEREEH, Wk
Bm= ()

A. 2 B. +2 C. 0D. -2
4, -
er-zx=l, 5
S (x)'{loazcx—n,mmuf = ¢
1 1
A, 2 B. —1 ¢.\ =5 D. 2
5. _

& RHA(x)=kx—In xFEXTB](1, +oo) BN, Mk HUE O 2 C

A. (_009 _2] B. (_009 _1] C. [2; +OO) D. [1) +OO)

1

wH In|e - ISR SR RBCH ()




